11”129 (Kl 17’1,129)

7/\ Linearized knot diagam
1

_—

8

—

Solving Sequence

\J 7’11%478654>14’2*)64’10%3?9H>62’C5’08
9

A knot diagranﬂ cr G 1 a G o G

Ideals for irreducible component#ﬂ)f Xpar

I = (—2.31440 x 10%5u? — 4.29609 x 103548 4 - + 1.17974 x 103¢h — 3.84219 x 103,
1.35861 x 103712 4 2.76955 x 10°7u?® + - - 4 3.42123 x 10°7a + 4.28134 x 1038,
u?® 4+ 3u® + -+ + 120u + 29)

I = (ub —u® —u® + b4 2u, —ub +2u” —3u® +2u* —u® +u? +a+2u—3,

u® —2ud — "+ 4u® — b —u® — 3u® + 3u+1)

* 2 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I I} = (—2.31 x 103542?
10387

(i) Arc colorings
1
az
ail = )

0.397110u*® — 0.809517u?8 + - - -
0.196180u?® + 0.364157u?® + - - -

ayg =

ag —

;)

0.559813u2% — 1.18451u28 + - - -
0.29614442° + 0.567389u28 + - - -

0.434170u%° — 0.988757u?® + - - -

¢
(¢
(-
(o
a; = (0 0403473u? + 0.114621u® +- - --
(o
(
=
(o
(-

as =

0.393822u%% —

a9 =
0.0125629u29 —

—0.247561u% —

)

0.550336u2% — 1.10515u28 + -

a3 = \ 0.349405u2" + 0.659790u28 + -

0.330131u2° + 0.777311u3® + -

ag = 0.0389985u29 —

o

(ii) Obstruction class = —1

0.0389985u9 —

(iii) Cusp Shapes = —0.409930u?°

— 4.30 x 1035428 .
1036, 1.36 x 1037u2% 4 2.77 x 1037428 4 ...
U30+3U29+"'

0.874135u8 + - -
0.0403473u? + 0.114621u* + - - -

0.00130980u28 + - - -
0.534045u?® + ... —

0.0361593u2® + -

0.3301310u2° + 0.777311028 + - -
0.0361593u28 + - - -

—0.752927u?® + - -+ —

+ 120u + 29)

— 36.6655u — 12.5140
+ 15.5278u + 3.25682

— 55.4393u — 20.3298
+ 24.3826u + 6.53699

—46.6121u — 16.4142
+ 7.11329u + 2.56728

— 39.4988u — 13.8469
+ 7.11329u + 2.56728

— 1.04271u 4 1.25453
24.8763u — 7.72880

—49.7304u — 17.0796
-+ 28.5927u + 7.82236

-+ 38.6348u + 14.8960
— 0.253016u — 0.364324

+ 38.6348u + 14.8960
— 0.253016w — 0.364324

34.5863u + 2.19818

.4+ 1.18 x 10%%p — 3.84 x
+3.42 x 10%7a + 4.28 x



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq WO+ —10u+1
C2 w3 370 - T8+ 1
€3 w3 420 + .. 44230 — 121
C4,Cs5,C8 w0 — 20 . 4+ 10u— 11
7, ¢10 w0 — 30 4 — 1200+ 29
Co w3 — 4u?®® - +1012u — 61
c11 w3 —3u? -+ 80u—T7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,Cq O+ 37y T8y + 1
C2 y30 — 79970 + ... 42022y + 1
€3 y30 — 36y + .- — 406651y + 14641

C4, C5, Cg y30 —28y* + ... — 122y + 121

cr, C1o y30 — 15y% + ... — 7034y + 841
Co y*0 — 40y*? + - — 182466y + 3721
11 y*0 + 1597 + .- — 5378y + 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

u = —0.818507 4 0.4189941
a = 0.149226 — 1.0148301 | —5.25125 + 0.685791 5.61474 + 0.938651
b= 1.78901 + 1.434061

u = —0.818507 — 0.4189941
0.149226 + 1.0148301 | —5.25125 — 0.685791 5.61474 — 0.938651
b= 1.78901 — 1.434061

u= 0.6242454 0.671788]
a= 0.421688 + 1.1505701 5.44904 + 2.236191 4.08223 — 3.088471
b = —0.584922 — 0.3548101

u= 0.624245 — 0.671788]
= 0.421688 — 1.1505701 5.44904 — 2.236191 4.08223 + 3.088471
—0.584922 + 0.3548101

= —1.023250 + 0.3831431
= —1.399580 + 0.0496861 | —4.55029 — 3.916421 | 4.57066 + 2.819551
—0.137063 — 0.8425201

—1.023250 — 0.3831431
= —1.399580 — 0.0496861 | —4.55029 + 3.916421 | 4.57066 — 2.819551
—0.137063 + 0.8425201

—1.156040 + 0.0344651
0.073453 — 0.6807961 2.03013 4 0.063291 5.83733 + 0.255461
—0.48025 4 1.492171

—1.156040 — 0.0344651
0.073453 + 0.6807961 2.03013 — 0.063291 5.83733 — 0.255461
—0.48025 — 1.492171

0.795313 + 0.2448511
= 0.02386 + 1.425261 1.16010 + 2.708211 1.48721 — 5.366541
0.45732 — 1.496351

0.795313 — 0.2448511
= 0.02386 — 1.425261 1.16010 — 2.708211 1.48721 + 5.366541
= 0.45732 + 1.496351

>~ Q@ €|l & €| & €|l & €| & €| & &>
Il




Solutions to I}

V=1(vol + v=1C)

Cusp shape

= —0.873624 + 0.7968741
= 0.740021 — 0.8481781
—0.138479 4 1.2783401

4.61816 + 0.067901

5.73031 — 0.161431

—0.873624 — 0.7968741
= 0.740021 + 0.8481781
—0.138479 — 1.2783401

4.61816 — 0.067901

5.73031 4+ 0.161431

—0.796958
1.72442
= 0.0618987

0.572803

10.1420

= 0.718056 + 1.0559601
= 0.821578 — 0.2911891
= 0.111688 — 0.7471951

—9.10651 + 0.372651

—0.282021 + 0.1989941

= 0.718056 — 1.0559601
0.821578 + 0.2911891
= 0.111688 4+ 0.7471951

—9.10651 — 0.372651

—0.282021 — 0.1989941

1.115300 + 0.7232011
= —0.038982 — 0.9385371
—1.15595 + 1.865961

—7.65463 + 6.055621

2.17136 — 4.653221

1.115300 — 0.7232011
= —0.038982 + 0.9385371
= —1.15595 — 1.865961

—7.65463 — 6.055621

2.17136 + 4.653221

= —1.167780 + 0.7655881
= —0.272505 + 1.0707701
= —0.35697 — 1.646141

5.69085 — 6.451061

6.67961 + 5.504351

= —1.167780 — 0.7655881
= —0.272505 — 1.0707701
= —0.35697 4 1.646141

5.69085 + 6.45106.1

6.67961 — 5.504351

= 1.37025 + 0.396981
= 0.223661 — 0.7862421
= 0.280709 + 1.2717901

8.63028 + 2.562001

10.62309 + 0.271581




Solutions to I}

V=1(vol + y=1C)

Cusp shape

1.37025 — 0.396981
a= 0.223661 + 0.7862421
b= 10.280709 — 1.2717901

8.63028 — 2.562001

10.62309 — 0.271581

u=0.004317 4 0.5478191
a = —0.721264 + 1.2067401
b= 0.150599 + 0.0253731

—1.21990 — 1.076621

—2.59095 + 4.113731

uw=0.004317 — 0.547819]
a = —0.721264 — 1.2067401

—1.21990 4 1.076621

—2.59095 — 4.113731

b= 0.150599 — 0.0253731

u = —0.443842

a = —0.206304 0.892044 12.1650
b= —0.607008

u = 1.55455+ 0.153331
a = —0.406036 + 0.7004081
b= 10.17299 —1.701751

3.98744 + 3.000091

5.48464 — 3.046081

u = 1.55455 — 0.153331
a = —0.406036 — 0.7004081
b= 0.17299 4 1.701751

3.98744 — 3.000091

5.48464 + 3.046081

u = —1.48154 + 0.829401
a = —0.017919 — 0.9258381
b= 10.78170 + 1.808671

—1.77013 — 11.720401

4.67233 + 5.696671

u = —1.48154 — 0.829401
a = —0.017919 + 0.9258381
b= 10.78170 — 1.808671

—1.77013 + 11.720401

4.67233 — 5.696671

u = —0.54089 + 1.672351
a = —0.545917 4 0.0237321
b= —0.117829 — 0.6417231

—5.21310 4 3.065171

5.76591 — 3.127811

u = —0.54089 — 1.672351
a = —0.545917 — 0.0237321
b= —0.117829 + 0.6417231

—5.21310 — 3.065171

5.76591 4 3.127811




IL 1Y = (u® —u® —u? + b+ 2u, —ud+2u” —3u’ +2u* —u? +u?+a+2u—
3, u® — 2ud® —u” + 4u® —u® — ud — 3u? 4+ 3u+ 1)

(i) Arc colorings
1
ar
0
u

— 27 —|—3u — 2t 4w —u?—2u+3
—ub +ud +u? - 2u

2u8 — 3u” — 2u8 —|—5u 2u4+2u3—5u+3
WHu +2u8 —w -2t — P+ u+2u+1

an—(
aq = (
ag = <
as = (
ap = ( —ub +U —|—u —ud—u
ud — 2u” —u +Au® —ut —u? —2u+3
az = —ub 4 ud fut — v —u

ud — 2u” +3u — 2t +u —u? u+3)

4

ud —u 3+u2

—u 6+ 2u% —2ut —ud 42
ag —

”)
ud —2u” — b —|—4u —ut—u?2—-3u+3
—ut +u —|—u —Uu

ag = —u® +u” + 208 —2u® —ut 4 2u

u’? —u —2ud + 2ut 4+ B —|—u —u—3
—u® +u” +2u8 —2u® —ut 4+ 2u

u7—u — 2u® + 2ut + u? Jru u3>

ag =
(ii) Obstruction class =1

(iii) Cusp Shapes = —u® +u” + 2u® — 4u® + u? + du + 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® +5u” +9u® +ut + 8ud +u? +3u+1
€2 u? + 10u® + 43u” + 106w’ + 167’ + 173u* + 116u® + 450 + Tu — 1
s ud —u® —u” —ub 4 3ut 30+ 4+ 2u+ 1
C4,C5 w —u® —5u” +5uf +8u® —8ut —4uP + 3 +u+1
6 u? 4+ 5u” +9u® —ut + 8ud —u? +3u—1
7 u? —2u® — " 4 4u® — b —ud —3u? 4+ 3u+1
Cs u? 4+ u® — 5u” — 5u’ + 8u® + 8ut — 4uP —3u +u—1
€9 u? — 3u® + 3u” — 5u’ 4 6u° + 6u — 3u® — 3u — 1
c10 w4+ 20— — 48— — P+ 3w+ 3u—1
c11 uw? —2u® +4u” —3uS + 30—+t —u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C6 y? + 10y® 4 43y" + 106y° + 167y° + 173y* + 116y> + 45¢% + Ty — 1
c 9 8
2 y' —14y° + -+ 139y — 1
Cs v —3y° —y" +11y° +124° — 3y* —13y° — 10y — 4y — 1
C4,C5, C8 y? — 11y8 + 51y" — 129¢° + 192y° — 166y* + 70y> — y> — 5y — 1
7, C10 y? — 6y° + 15y" — 16y° — 3y° + 24y* — 13y — 159> + 15y — 1

Co

y? — 3y® — 9y" 4 23y° 4 48y° + 18y* — 10y — 45y% + 3y — 1

C11

y° 4+ 4% 4+ 10y" +13y% +3y° — 12y — 119 + 42 + 3y — 1

10



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.168914 + 0.9506611
a= 0.049336 — 0.6097201
b= —0.784185 — 0.9823571

—6.63247 4 1.790221

1.84978 — 1.075311

u = —0.168914 — 0.9506611
a= 0.049336 + 0.6097201
b= —0.784185 + 0.9823571

—6.63247 — 1.790221

1.84978 + 1.075311

u = —1.145600 + 0.1034961
a= 0.414158 — 0.8633641
b= —0.20585 + 1.624671

1.93998 + 1.746001

4.48812 — 2.120551

u = —1.145600 — 0.1034961
a= 0.414158 4 0.8633641
b= —0.20585 — 1.624671

1.93998 — 1.746001

4.48812 + 2.120551

u= 1.161230 4 0.5942011
a = —0.279042 — 0.7834721
b= 10.68024 + 1.365181

6.80275 + 0.691721

8.39096 + 0.053251

u= 1.161230 — 0.5942011
a = —0.279042 4 0.7834721
b= 10.68024 —1.365181

6.80275 — 0.691721

8.39096 — 0.053251

u = 1.287590 + 0.3403061
a = —0.400111 + 1.0333901
b= 0.005983 — 1.3551301

7.89851 + 3.554651

6.26919 — 4.197621

u = 1.287590 — 0.3403061
a = —0.400111 — 1.0333901
b= 0.005983 + 1.3551301

7.89851 — 3.554651

6.26919 + 4.197621

u = —0.268618
a= 3.43132
b= 10.607619

—0.278310

0.00389950
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u® +5u” + -+ 3u+ 1) +u* -~ 10u+1)
9 8 7 6 5 4 3 2
o (v’ + 10u® + 43u’ 4+ 106u° + 167u” + 173u” + 116u° + 45u” + Tu — 1)
(w4 37u* 4+ T8u+ 1)
c3 (u® —u® —u” —u® 4 3u* + 3u + 4u® + 2u + 1)
(P 420 4+ 423u — 121)
¢4, Cs (u® —u® — 5u” + 5u’ + 8u® — 8ut — 4u® 4+ 3u® +u +1)
(=20 4+ 10u — 11)
Co (u® +5u” + - +3u— 1) +u® +- —10u+1)
cr (u® — 2u® — u” +4u’ —u® —u® — 3u® + 3u +1)
(w0 = 3u - — 120u + 29)
cs (u® + u® — 5u” — 5u8 + 8u® + 8ut — 4u® — 3u® 4 u — 1)
(W =20 4 10u — 11)
Co (u® — 3u® + 3u” — 5ub + 6u° + 6u® — 3u? — 3u — 1)
S(u® = 4u - 4+ 1012u — 61)
10 (u® +2u® —u” —4ub — b —u® 4+ 3u? +3u—1)
(w = 3u® + - — 120u + 29)
o (u® — 2u® +4u” — 3u® + 3u® —ud +u? —u—1)
(w0 = 3w + -+ 80u—7)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢ (v° + 10y® + 43y" +106y° + 167y° + 173y* + 116y° + 45y° + 7y — 1)
PO+ 3TY 4+ T8y + 1)
o (y° — 14® + - + 139y — 1) (%0 — 799 + - + 2922y + 1)
cs (y° —3y® —y" + 11y° + 12y° — 3y* — 13y° — 10y> —dy — 1)
. <y30 _ 36y29 + -+ — 406651y + 14641)
ca, 5, Cs (y” — 11y® + 51y" — 129y° + 192¢° — 166y* + 70> — y* — 5y — 1)
(g0 — 287 4 - — 122y + 121)
. (yg _ 6y8 + 15y7 _ 16y6 _ 3y5 4 24y4 _ 13y3 — 15y2 —+ 15y — 1)
(30 — 15y 4 - — 7034y + 841)
o (y° — 3y® — 9y" + 235 + 48y° + 18y* — 10y — 45y + 3y — 1)
(0 — 40y + - - — 182466y + 3721)
c11 (y° +4y® + 10y" + 13y° + 3y° — 12" — 11 + > + 3y — 1)

(30 + 15y% 4 - — 5378y + 49)
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